
𝒔 = 𝟏𝟑
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𝑡 ҧ𝑡 + DM

𝑡 ҧ𝑡 + DM



𝑡 ҧ𝑡 + DM

𝑡 ҧ𝑡 + DM



𝑡 ҧ𝑡 + DM

𝑡/ ҧ𝑡 + DM



𝑡 ҧ𝑡 + DM

𝑡/ ҧ𝑡 + DM
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𝑘𝑇



𝑘𝑇

•



𝑘𝑇



𝑝𝑇 𝐻𝑇 > 120

𝑝𝑇 >

𝐿𝑖𝑛𝑡 =
−1

𝑡 ҧ𝑡 + 𝑊 + 𝑍 +



𝑡 ҧ𝑡 +

𝑍 + 𝑊 +
𝑡 ҧ𝑡 + 𝑊/𝑍

𝑊𝑊,𝑊𝑍, 𝑍𝑍,𝑊𝐻, 𝑍𝐻

𝑡 ҧ𝑡 + 𝑡/ ҧ𝑡 +DM

•

• 𝜙/𝑎
• 𝑚𝜒, 𝑚𝜙/𝑎, 𝑔𝜒, 𝑔𝑞

𝑔𝜒 = 𝑔𝑞 = 1

𝑚𝜒 = 1



𝑝𝑇 > 𝜂 < 2.4 2.4 < 𝜂 < 4.0

𝑝𝑇 > 𝜂 < 2.4

𝑝𝑇 > 𝜂 < 2.1



𝑡/ ҧ𝑡 + DM

𝑡 ҧ𝑡 + DM



𝑝𝑇 > 30 GeV 𝑝𝑇 > 10 GeV

𝑡 ҧ𝑡 𝑊 +

𝑡 ҧ𝑡 𝑊 + 𝑍 → 𝜐𝜐





𝒑𝑻
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• 𝑝𝑇
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• 𝑝𝑇
•
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• 𝑡 ҧ𝑡
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𝜇 = 𝜎/𝜎𝑡ℎ
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• 𝑡/ ҧ𝑡 + 𝑡 ҧ𝑡 +

• 𝑝𝑇
𝑡/ ҧ𝑡 +

•

• 𝜇 = 𝜎/𝜎𝑡ℎ
• 𝑚𝜙 < 200 GeV 𝑚𝑎 < 300 GeV 𝑡 ҧ𝑡 + DM
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